Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 37184\C - Drawings\FL-37184 (2020)\FL-37184.1.dwg

1] TRINITY GLASS

FL 33595

o
INTERNATIONAL L
33615 1st Way S, Federal Way, WA 98003 'u_) go®
OSEET
- H38 g
2>4Z
D 9 .
\ 5B ® L
115.5" MAX. OVERALL FRAME WIDTH & ON 58
SlkE g5z
GLAZED FIBERGLASS PATIO DOOR L Sy TRV . Slefs %2
FRAME WIDTH FRAME WIDTH s 3:3) 5098
SINGLE Bl N
c 0
(——— 2 £z
, a E O §
Vi Vi / 2 Su
w/ or w/out SIDELITE(S) ! 4 SE5 &
o
OUTSWING « | zE
11 L E 8 % %
IMPACT & 0 X o 0 8 | 43
= ) = = &
& =B S =
> = oo |., = %
G PHEE
GENERAL NOTES = J J Y, 37 |3
0 o
1. This product evaluation drawing has been developed in compliance with the 7th Edition o ﬁ : S §
(2020) Florida Building Code (FBC) including the "High Velocity Huricane Zone" (HVHZ). § T |o %_ 7%
1.5~ = 1 e el &
2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment o o
to base material shall be beyond wall dressing or stucco. >
m
3. When used in the "HVHZ", this product complies with Section 1626 of the FBC and does i i ¥ A 2 !
not require an impact resistant covering.
[e] X Jle o o (o] o
4. When used in areas outside of the "HVHZ" requiring wind borne debris protection, this
product complies with FBC Sections 1609.1.2 & R301.2.1.2 and does not require an / / \ \ / / o
impact resistant covering. This product meets missile level "D" and includes Wind Zone 4 )
as defined in ASTM E 1996 and FBC Sections 1609.1.2.2 & R301.2.1.2.1. g
OX, XO X00, 00X 00X, XO0 [i%
5. For 2x stud framing construction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.
6. Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect. -
|_.
<
7. This product meets the water infiltration requirements for the "HVHZ". =
G - | DESIGN PRESSURE (PSF) o
_CONFIGU f' E - OUSWING .. =
e = =t | omension |REINFORCEMENTT posimive | NEGATIVE | POSITIVE | NEGATIVE owTe: 1/28/21
SHEET # | DESCRIPTION SHEET# . DIME e : YE i iy Bhimeds e B =
1 Typical Elevations, Design Pressures & General Notes 7 Horizontal & Vertical Cross Sections (1X Buck) X 37.5" x 80.5" N/A +50.0 -50.0 +50.0 -50.0 =
92 Door & Sidelite Panel Details 8 Horizontal & Vertical Cross Sections {Direct to Masonry) W= B RW
3 | Lite Frame Glazing Details 9 | Verfical Cross Sections (Thresholds) OX, XO 76.5" x 80.5" 2X +50.0 -50.0 +50.0 -50.0 CHK. B:  LFS
4 Elevations 10 |Buck Anchoring DRAWING NO.:
5 | Horizontal & Verfical Cross Sections 11| Frame Anchoring & Hardware Details OXO, XOO, OOX | 115.5" x 80.5" 2X +50.0 -50.0 +50.0 -50.0 FL-37184.1
6 Horizontal & Vertical Cross Sections (2X Buck) 12 Bill of Materials & Components

SHEET _1 oF 12

© 2021 R.W. BUILDING CONSULTANTS INGC.



[<— 1.75" '>1

l o
- =04 i 9
_‘__'! 58" R Bl 2-5" ].5 ! —— — LZS Lt
’ —=| f=—0.28" i @5,
7 | ) ;838
; . PR 7 TOP RAIL 5 -k ) CE
Ui B . s ) \ (PVC COMP) “U,, pROW ? 55 2
e D = /?__,- . n e e ’/ 7. CAP 1y ”“\ u>), O N - "é
L] 3 7 J . 5
INTERIOR (PVC COMP) s ox8
CAP STILE Qlefg 5% 2.
[+ N | .
STILE SEE FIBERGLASS SKIN LVL LOCK BLOCK LVL |2 Ay 502f
(PVC COMP) (VL) DEAL (19.25' LONG] (LVL) DOORSKIN |- % eyt DEEL
Do [ o)
~ e =
1"\ HORIZONTAL CROSS SECTION S R
\2/ o [S N
o l‘ \\\
N x
VY e S
b Q gﬂ
- 3575"MAX.PANEL o, §§
WIDTH POLYURETHANE EXTERIOR INTERIOR §§ S|y B
_ FOAM FIBERGLASS o N [
Zg YARN EunEls cg
i Ll n-Z
=z REINFORCEMENT S |9l 8%
S = 8l m Jo
Vi Lsrerard 2|z
/ = NS =~
/ 8 >
s 9 ! =z
O -
T - FIBERGLASS SKIN
il
z FIBERGLASS SKIN DETAIL
: X |le}
> %,
E VK| 5
N 7]
M~ gl
/
Va
/
FOAM CORE — || .
SEE HARDWARE TABLE L
Lid
_ b=
2 S
o
=
[ DATE: 1,/28/21
FIBERGLASS DOOR PANEL BOTTOM RAIL
@ (PVC COMPOSITE) SAE  N.T.S.
50 ) FIBERGLASS SIDELITE PANEL Dwe. B:  RW
| cHk. By:  LFS
KNOB: F51 DRAWING NO.:
SCHLAGE :
FIBERGLASS SKIN: 0.079" MIN. THK. (Fy = 10,000 PSI MIN.) DEADBOLT: ~ B6ON {2\ VERTICAL CROSS SECTION FL—37184.1
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.) \2/ o 2 o 12

Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 37184\C - Drawings\FL-37184 (2020)\FL-37184.1.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 37184\C - Drawings\FL-37184 (2020)\FL-37184.1.dwg

7.5"
(TYP.)

i<-— 1.21"

I

.7
"ll

=

FLUSH GLAZED LITE FRAME
4A ABS

21"MAX.D.LO. __

WIDTH

— o)

63" MAX. D.L.O. HEIGHT

8.75"
(TYP.)

9.38"O.C.
(TYP.)

6"-8" LITE FRAME

ABS

p———

#8X1-1/8"

SELF-THREADING SCREW

EXTERIOR

1/2" GLASS BITE

— 1" O.A. THK GLASS

/5/32” TEMPERED GLASS

_——AIRSPACE

N

~_—1/8" ANNEALED GLASS

*
#8X1-1/8"
SELF-THREADING SCREW
G1 GLAZING DETAIL
Dual Pane
INTERIOR

EXTERIOR @
- *

I~
—

1/8" ANNEALED GLASS

ST. STEEL SPACER

* DOW 995 STRUCTURAL SEALANT

0.090" SAFLEX PVB INTERLAYER

\\

I/,
/o)

YIS
.
.
.

C

Wiy,
.SCHM,
7\

S

—— 1" O.A. THK GLASS

/——5/32" TEMPERED GLASS
AR SPACE

/

§\- DECORATIVE GLASS

1/8" ANNEALED GLASS

1/8" ANNEALED GLASS

@ —] 1/2" GLASS BITE
EXTERIOR
E 3
£ 3
#8X1-1/8" DECOSEAL SPACER
SELF-THREADING SCREW
GLAZING DETAIL
INTERIOR Triple Pane

——1/2" GLASS BITE

— 1" O.A. THK GLASS

~ ———AIRSPACE

#8X1-1/8"
SELF-THREADING SCREW

AL

UMINUM SPACER

G3 GLAZING DETAIL

INTERIOR

Blinds Between Glass

1/8" ANNEALED GLASS

0.090" SAFLEX PVB INTERLAYER
[~ —1/8" ANNEALED GLASS

o

T ALUMINUM BLIND INSERT

\—l /8" TEMPERED GLASS

//,
ENgg S 2

%0.090" SAFLEX PVB INTERLAYER

February 8, 2021

P.0. Box 230, Vairico, FL 33585
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

LITE FRAME

TRINITY
"Impact
GLAZING DETAILS

FIBERGLASS PATIO DOOR
PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DAaTE: 1,/28/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-37184.1

SHEET _3 oF 12

© 2021 R.W. BUILDING CONSULTANTS INC.



TOND SLNVLAINSNGD aNIgTing "M'sd L2002 @

€186 "ON Ansibsy Id84 SNOISIAGY
LBLE'BSY'CLY "ON Buoyd Ad 41V [ON{ .~ |~
SESEE T4 ‘OdUIDA ‘OSZ Xog "O'd \Su SNOLYAITI N2 =0 M 1_
“ONI ‘SINVLINSNOD ONIQTING @. KTENISSY 80 Lavd S M =11, N
2, 60vSY "ON “I'd oodul = & & m 7 N
e ORION Ly \\\\ WPIUYDg "4 uopuAkl H00d oﬁqﬁhwﬁommmt g m sl T B
% Wn%.:Ag peipdesd sjuswnoog 110Naoyd ES 2|35 m G
1202 ‘8 Areniqog
| o
3
w|~
w v
<t| o
i~
/l.//,/ m
=0
N < <15
>
*V ///«/
e @)
O .
P my
|/
0| co
> W,)
o
Wl oS
7 ZiT =
-~ Ols =
Eloa @
|0 H< @) A @ mm mAu
\\\\ ﬂ .
o X
<
<t co
opo
<t~
N
Dl g i 554 x
N
L X @
> =
Z ————
| o = e Q
“x. z239
o~ Olu=Zz
@) Q2>
“ zoo
J X gl < m
e v BINZEEE
o JOR-4
O
P
N
z
Q O
[
@ 5
o W RSN
-
jIw}
JOVWI QTIOHIIW

Bmp L pgL2E-14\0202) ¥8LLE-1d\sBuUmMeIq - D\P8LLE - T4\sjenoiddy 1onpoid epLOld - VALNINVINY3 SselD Auun\sjusid\:z



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 37184\C - Drawings\FL-37184 (2020)\FL-37184.1.dwg

\\

®

SEENOTE 1

/"1 "\ HORIZONTAL CROSS SECTION

s

0.15" C-SINK

;___.

(TYP)

m INTERIOR

A\

&/

Nofes:

1. Sidelite assembly screws located 6" from
each end and 4 more screws equally spaced
between {6 screws total per side jamb).

INTERIOR

EXTERIOR

@ EXTERIOR

SEENOTE1 SEE NOTE 1

m HORIZONTAL CROSS SECTION

&/

EXTERIOR

.
]
.
.
.
[}
.

Sy
-~
o
o~
-
-
-—
-
-
-

February 8, 2021

oy
)]
0
.9
[ L]
z
._._j’\
oM
(71
Z028
S ZER
> JP00g
Y 27wz
D% N 7]

A\ Z 3% p
3 SN .3
& 5 o
v © 052&’
£ Ee Zmy
g £ q 1
a SO Jd .8
£ oY 502f
Y @doak
2 b
£ g
® C
£ 6% §
3 0,

g tu
8 2o @:g
&
S
v
o Q
=58, BB

EXolx 8n
Z.Qg.ag 7%
(A =
= @A~ 2 X

2 | Sn
3 |a £Q
g < &
5l W |x
5 & |o
o] W -
8 o
& &
>_
tn
0
=z
O
0
v
i
<t
o
o
z
oaTE: 1/28/21
scate:  N.T.S.
pwe. BY:  RW
CHK. BY: LFS
DRAWING NO.:
FL-37184.1

SHEET _5 oF 12

© 2021 R.W. BUILDING CONSULTANTS INE.




Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 37184\C - Drawings\FL-37184 (2020)\FL-37184.1.dwg

C sa

ALV GRS

0.15" C-SINK

r‘ (TYP)

INTERIOR

)

77
/i

oA

N
1-1/4" MIN.
EMB. (TYP.)

/"1 HORIZONTAL CROSS SECTION

&/

SEENOTE 1
INTERIOR 2
Not EXTERIOR ¥
otes: @ &
1. Sidelite assembly screws located 6" from /\//
each end and 4 more screws equally spaced

between (6 screws fotal per side jamb).
2. Sidelite assembly screws located 10" from each
end (2 screws total adlong head & sill).

EXTERIOR

@)

7”3\ HORIZONTAL CROSS SECTION

&/

1-1/4" MIN.
EMB. (TYP.)

_1-1/4" MIN.
EMB. (TYP.)

&/

N ‘7
S Yt
SO Yz 8
Ss:. .‘%2 g))
=5id € azyn
=t tLZZ L
ol & H -
:d)'.% Qlo'o:'m' _?—-’2
:"&.'u "’6: E Sgg
,, '.‘. . gs &_ 'Em .
() 2 SEELE
“, X @ n®
§ - T g v -\ ‘ty, \\F.\ §3°D
. - . » T A o > v 1N 5, OWN . 0
. :.V‘ b I> R ~V’ ""'D% oxgg
> e Y v e B g 7 : g g, ZQ,¢K
| T »ka. Z S s v Q %53 gdg}f
‘ ) 2 ols " Baaxl
b
(®) —] 5 1 2 §
Z Z A a £ 0
Z @ -—& 30 .
’ 2E SR
2 icﬂ‘ m [ T+ N
TN
X
&x S
) Sm
Q =
Q [8 e
o |
=Tl «»
‘\® . Essls V2
OO Epld 2e
B = S o Zm
O 3 |2 R”
EXTERIOR INTERIOR e o &0 g
A\ o 8l @ |9 £
2 g
<
/ 4\ VERTICAL CROSS SECTION & &
& .
[as]
N
- &)
o
[a g
Zao
ORET
Yo
<\_@ =
......... - LL}
L
<€
(]
o]
=z
DATE: 1/28/21
SEE NOTE 2 e NTS
EXTERIOR INTERIOR owe. B:  RW
- - CHK. BY: LFS
DRAWING NO.:
7”5\ VERTICAL CROSS SECTION Fl_37184.1

SHEET _6 oF 12

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 37184\C - Drawings\FL-37184 (2020)\FL-37184.1.dwg

ARRERALARANNY

< ;!

@) -

E B

INTERIOR

=111 1311
. o

< N

v

Ve

P

1-1/4" MlNi m

- EMB. (TYP.

EXTERIOR

@)

/"1 "\ HORIZONTAL CROSS SECTION

W Shown w/ 1X sub-buck

Notes:

1. Sidelite assembly screws located 6" from
each end and 4 more screws equally spaced
between {6 screws total per side jamb).

2. Sidelite assembly screws located 10" from each
end (2 screws total along head &sill}.

1-1/4" MIN.

EMB. (TYP.)
7”2\ HORIZONTAL CROSS SECTION

W Shown w/ 1X sub-buck

INTERIOR

\\

EXTERIOR

SEENOTE 1

7”3\ HORIZONTAL CROSS SECTION

1-1/4" MIN.
EMB. (TYP.)

W Shown w/ 1X sub-buck

in
[0}
0
.M
% )
;dan
E g 33 ©
ZEg®
3%¢¢
PR 2ol
RN g SR.%
e S o
S, £8,°
1858 3558
Sl Bl
8L,
§ el
S| 2u %
o |8 2
<
x =S
EXTERIOR INTERIOR S om
W\ a E:Jx
o, | =
EEE|,, 2
/ 4\ VERTICAL CROSS SECTION =813 5
WShownw/leub—buck ~ Q|2 §S
3 o S8
.2 19 En
ol & (8 €3
=1 ™ - o
e |y ©
& X
>
om
(73]
Z
o
%)
o
[28
L
EXTERIOR INTERIOR g
3
=
/"5 "\ VERTICAL CROSS SECTION DATE: 1/28/21
WShown w/ 1X sub-buck scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL-37184.1

SHEET _7 oF 12

@ 2021 R.W. BuiLping CONSULTANTS INC.



[Te]
[0)]
ra 19
Zal oM
= e z N
o G o.oR
=3 E dom
a S 2ag
' W ggb g
° & o @
o % O X (2) g’
o e e z 08k
—————— 3 Em 50 o
INTERIOR Ng 88 Zg68L
oo Y @ Gl
2le s
2 2 52 §
B 3 T,
slEs &
N
i
EXTERIOR o« £S5
— EXTERIOR INTERIOR ] :(|§
\\ o | Ee
EF8|y S5
= il = -
1-1/4" MIN, AR {4\ VERTICAL CROSS SECTION E gl o
EMB, (IYP ] {TYP. W Shown Direct to Masonry é ‘é S:S,
/" 2"\ HORIZONTAL CROSS SECTION gl & |o 82
il = o =
/"1 "\ HORIZONTAL CROSS SECTION \_8 / Shown Direct fo Masonry 2 = | &5
W Shown Direct fo Masonry Z g < T
£t
3¢ 2
- i
\
173
=
Q
2]
INTERIOR @'
S SEENOTE 2
> Lol
S =
: : EXTERIOR ] | o
EXTERIOR S B INTERIOR .
(50 - 2
SEENOTE 1 - :
N ("5 "\ VERTICAL CROSS SECTION o 1/28/21

Notes: 1-1/4" MIN. \_8_/ Shown Direct fo Masonry SeAE:  N.T.S.

1. Sidelite assembly screws located 6" from EMB. (TYP.) owe. Br:  RW
each end and 4 more screws equally spaced m HORIZONTAL CROSS SECTION CHK. BY: LFS
between (6 screws total per side jomb. \8/ Shown Direct fo Masonry DRAWING NO.:

2. Sidelite assembly screws located 10" from each FL—-37184.1
end (2 screws total along head & sill).

SHEET 8 ofF 12

Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 37184\C - Drawings\FL-37184 (2020)\FL-37184.1.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.




"ON{ SLNVLINSNDD SNIGUNg "M'Y LZ0Z 9

“ONI

€186 ‘oN Ansibey 3dgd SNOISIAZY

L6L6°6G9'CLE "ON euougd (SAIOHSINHL) SNOILO3S F -
SBSEE T4 ‘OOWIDA ‘OSZ X0 “O'd \SV SS040 WOLL3A A8 e N LRI
‘SINVLINSNOD ONIGTING \&. "KIEN3SSY 80 Livd S1=%(7. Sk
cObey “ON I 4004 Jopduy N o g ¥ 9_

OLLY. T g

y, s uopuAl tﬂ%wﬁwmmmz ] m @ .m m rll
"o 2Aa_peindeid sjuswnoog :L0NA0¥d 5188|518 %

PER KRN NN
* *

60vEY "ON

\\\\\\Q\SIom >

1. Sidelite assembly screws located 10" from each
end (2 screws total along head & sill).

Notes:

1202 ‘8 Arenigag

EXTERIOR

/]

INTERIOR

% SEENOITE 1

EXTERIOR

/" 2\ VERTICAL CROSS SECTION

("dAL) gwW3
NIW ¥/ 1-1

//

INTERIOR

m VERTICAL CROSS SECTION

{'dAL) "gw3
"NIW 7/ 1-1

Bmp’| v81.2£-19\0202) ¥8LLe-Td\sBumeld - D\p8LLE - T4\s|eroiddy 30npoid epHOld - VALNINYINYId SSEID ANUL\sIUslD\Z



TON| SLNVLINSNDOD anNIQTHNAE "M L 202 @

€186 ‘ON Ansibey Jdad SNOISIATY
S65€¢ “_nump.mowmw>n mmnwouomw c.n%m_ \Sv ONIMOHONY Xon8 Ad divd 10N ~ eI M. w_
"ONI ‘SINVLINSNOO ONIaTINg g "KIBN3SSY Y0 _1avd =%, m &
WS VNG, o Joodul, NN
O/zku%w..aﬁm....u.m@ T ARy - 3000 OlLYd SSV19¥3dld ME w m 2|
/I.& <N y ....&‘\J\\\nxm pesndeld sjuswunsoq ALINIYL :L3NAaoHd & M 53135 m %

LN YR 120C ‘g Arenigeg
3 ¥ e
Y 6oveyoN {3 v& \ wl A XYW
. -.' ) U et o) " .
\\\\ / \szom W///// «
T =} I f f f f
<

OXO, 00X, XOO

o
o E
& &3
© w
S YL
3 B
Cy » =
Ry g a
s m &
o S E i
3 i
...”.‘., In | I ] ] )
T [
(dAL) XYW m
L (dAL) - ke
A 20.91 .an
|5, t f 1 m f MW
<
i <
TE S
z E % m
= 4L S
: e o &
G E )
i 2
> 2o
< &
o= i
5 it
s R R ’ c.v....u S -]
ET T
>

(dAL) XYW

I T Amwv .U.o :@—

e g

.
(TYP.)
iy

HEAD & JAMBS
(TYP)

s

P
(TYP.) \

A

L
MASONRY (TYP.)

P

Bmp'L'v8L2E-14\0202) ¥8LLE-14\sBuImelq - D\p8LLE - Td\s|eroiddy 19npoid epLod - VALNINVINY3d sse|D Auun1\siusD\'Z



Z)\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 37184\C - Drawings\FL-37184 (2020)\FL-37184.1.dwg

ATTACH FRAME CORNERS @ HEAD G SEE TOE-NAIL
w/ (3) #9 X 2" COURSE THREAD . DETAIL )
DRYWALL SCREWS (TYP.) 4 p (iY g\)’P-) - = —| |=—¢'(TP)
\ (TYP) _._‘ e ; . I ‘
[ 1 T IT]
I Fapt ! l_ | SEEHINGE
| R} 11— oeraL
= & = o 2] (TYP.)
_ 2XBUCK _ o _ 2XBUCK — CE i)%
1XBUCK lXBUCK o)
DIRECT TO DIRECT TO =8
—_ MASONRY || — — MASONRY —#1 (TYP.) —l =
HEAD & JAMBS HEAD & JAMBS
{TYP.) (TYP.) T .
a g
o SIDELITE B Q SIDELITE = =
— pg = — —_ oy .
o DOOR g = 0 DOOR % <
FR&C"E\ SILL =3 SILL }
(TYP.) _/ ([mP) _ _ (TYP.) —
l i l l l 119 l
\SEE TOE-NAIL
X SEE TOE-NAIL G XO, OX DETAL HINGE JAMB
— DETAIL )
(TYP.) —={ t=—4"(TYP)
4" (TYP)
H ¢
YD D I
2x BUCK =
— » “"— - ~o E
o 1X BUCK \
DIRECTTO P, \
— wasoney |- ™) -] | D \\
HEAD & JAMBS I
(TYP.) /\
]
o SIDELITE GE yi f
- B 0 DOOR S 1
T <
SILL -3 )
— — (TYP.) “__. - WOOD -
[ 1
; = / l LLj} CONCRETE
X SEE TOE-NAIL TOE-NAIL DETAIL
0OXO, OOX, XOO DETAIL TYPICAL @ EACH 2X REINFORCEMENT
(TYP.) (SHOWN @ SILL - HEAD SIMILAR)

ATTACH FRAME CORNERS @ SILL
w/ (2) #9 X 2" COURSE THREAD

FRAME ANCHORING

DRYWALL SCREWS (TYP.)

DIRECTTO
MASONRY

— IXBUCK

2XBUCK
2X REINF.

s@

©
A

\
W

HINGE DETAIL

3.5" X 4" 20 GA. STEEL DEADBOLT

REINFORCEMENT PLATE STAPLED TO
BACK OF JAMB o
e
DIRECT TO \ \ 31z
MASONRY \ g5
nlO
1X BUCK \ 20) 3
2XBUCK (7 M-
2X REINF. u
T reef
S in
i
2X BUCK
2X REINF.
xuck (G)
DIRECTTO
MASONRY
LATCH & DEADBOLT DETAILS
HARDWARE DETAILS

February 8, 2021

Yo
0 0
. /’ o
t. - i
4T = 1D
g:(:—-_]y\
(&= Lon
03P 555
.’QQ%,QO;O)
HS EEB
o) - 00 0
S~ D22 wmZ
D 205
\ & 9% L
> ON - 2
o, o™
v U O Xz o
o = ZzZ 0K
5 ko F0o
a £O 0 . Ccw
° 83 502§
LT Danw
3w,
t g
8§ £ §
N
6 Su
o Ja
S
n
g o
==
o b
== oQ
E:‘(o X
EQ‘O 3 Oty
g o olal 2%
l-(/)g-g = =
3 l Wo
o |9 2%
L [ ET
ol 8 [ s
S5 & o
o
S ’n?
& 5
>—
n
)
=z
@)
N
o
[
Ll
<€
o
o
Z
DATE: 1/28/21
scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—-37184.1

sHeer 11 oF 12

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 37184\C - Drawings\FL-37184 (2020)\FL-37184.1.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A 1X BUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW {1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
X 2X REINFORCEMENT (SG = 0.55) WOOD
] PVC JAMB COMP.
7 WEATHERSTRIP FOAM
9 #9 X 3/4' PFH WOOD SCREW STEEL
10 #9 X 1" PFH WOOD SCREW STEEL
11 4" X 4" HINGE STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
15 OUTSWING THRESHOLD ALUM/COMP
16 QUTSWING SIDELITE ADAPTER PVC
20 #9 X 1/2" PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
22 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #10 X 2" PFH SMS STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

= - 0
<« =t o0
™~ 1
S | 4.56 ' f'_’ . B
oM
B L z
] T 5 "
0o
i <£3°
* 1 Dbw o
— D2z
; . i UiT ”\\\% 8 P 3%
— e O XZ o
PVC JAMB SfBE, z8LF
KlEs3 9 2w
~j2dy 502k
oo jo ,'2 R T
s |t 52 §
3 0 .
S5 K
2 |8 2«
0
| 4.57" ! 8
R S o QS: i~
] " { ==
e g n £la =%
S - =S 3
! 3715 58
L E |9
bl @ g ©
OUTSWING THRESHOLD OUTSWING SIDELITE ADAPTER 2 b
15 = 16 8 £
High-dam & b4
o o
>_
3]
wn
=z
o
2
ol
o
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, addifional concrete anchors L
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. iE
3. Concrete anchor table: o
NCH !
WSO | 316" e _1/28/21
TAPCON® [ 178" 11/8 7 yo scaE:  N.T.S.
DWG. BY: RW
DeWALT 1/ 1 1 :I Ul n A
ULTRACON? -1/ 1 4 chk. Bv:  LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-37184.1

wood screws to prevent the splitting of wood.

SHEer 12 oF 12

© 2021 R.W. BUILDING CONSULTANTS INC.



